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No. Questions MarksSOCIAL SCIENCE

SAMPLE QUESTION PAPER

CLASS IX
TIME : 3 hours Maximum Marks : 80

Instructions :

1. The question paper has 36 questions in all. All questions are compulsory.

2. Marks are indicated against each question.

3. This question paper consists of two parts i.e. Part I and Part II. Part I of the question
paper contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1
mark each. These sixteen questions of Part I are to be answered on a separate
sheet  provided. This part has to be completed in first 30 minutes only and the
answer  sheet must be handed over to the invigilator before starting Part II.

4. In Part II of the question paper, there are twenty questions from serial no. 17 to 36
which are to be attempted in 2 hours and 30 minutes. This part should be attempted
only after the stipulated time given for Part I.

5. Questions from serial number 17 to 32 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

6. Questions from serial number 33 to 35 are 4 marks questions. Answers of these
questions should not exceed 100 words each.

7. Question number 36 is a map question of 4 marks from Geography only. After
completion, attach the map inside your answer book.
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PART - I

Q 1. Which one of the  following is associated with the name of Kerry Packer?

(a) Introduction of protective helmet in cricket;

(b) Emphasising that cricket is a marketable game;

(c) Making cricket popular in villages;

(d) Making cricket an international game. 1

OR

Which one of the following refers to Khadi?

(a) Cotton textile made in India;

(b) Chintz made in India;

(c) Coarse cloth made from handspun yarn;

(d) Machine made Indian cloth. 1

Q.2. Why did test playing nations like India, Pakistan and West Indies boycott
South Africa from representing the country in Test Matches?  1
(a) Because the majority of the population belonged to the Black Community;

(b) Because South Africa was not a standard cricket team;

(c) Because South Africa is a racist state which barred non - whites from playing;

(d) Because South African team barred whites in a black team.

OR

In Victorian England why were the girls, from childhood tightly laced up and
dressed in stays.

(a) Because the girls looked beautiful in the dress;

(b) Because the girls with these type of dresses were considered fashionable;

(c) Because it was believed that an ideal woman should be able to bear pain and
suffering;

(d) Because the women will not be able to move freely and force them to stay at
home. 1
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Q.3. Which one of the following rivers is different from the other three rivers with
reference to its source of origin?

(a) River Indus;

(b) River Brahmaputra;

(c) River Ganga;

(d) River Satluj 1

Q.4. Which one of the following is the main reason for the horizontal motion of air
over the earth’s surface?

(a) Variation in the atmospheric pressure;

(b) Variation in altitude;

(c) Variation in temperature;

(d) Variation in latitudes. 1

Q.5. Which one of the following forces is responsible for the deflection of wind
from its normal path ?

(a) Centripetal force;

(b) Centrifugal force;

(c) Corriolis force;

(d) Gravitational force. 1

Q.6. In Which one of the following forests, the trees shed their leaves for about
two months in dry summer season?

(a) Tropical evergreen forests;

(b) Tropical deciduous forests;

(c) Tropical thorny forests;

(d) Mangrove forests. 1
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Q.7. The Chief election commissioner of India is appointed by the:
(a) Prime Minister of India;

(b) Chief Justice of India;

(c) Speaker of Lok Sabha;

(d) President of India. 1

Q.8. Which one of the following institutions is responsible for implementing the
law made by the Parliament?

(a) The President of India;

(b) The Union Executive;

(c) Ther Supreme Court of India;

(d) The Speaker of Lok Sabha. 1

Q.9. Which one of the following is a directly elected house?

(a) Parliament;

(b) Lok Sabha;

(c) Rajya Sabha;

(d) Vidhan Parishad. 1

Q.10 Which one of the following statements regarding the rights in a democracy
is not true?

(a) Citizens have the right to express their opinion;

(b) Rights protect the interest of the majority community;

(c) Citizens have the right to vote;

(d) Every democratic country has a constitution. 1
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Q.11 Which one of the following statements regarding the Right to Freedom is
not correct?

(a) People are free to settle in any part of India;

(b) People can migrate from villages to cities;

(c) There is no freedom to choose profession;

(d) People of deprived classes are free to leave their family profession. 1

Q.12 Which one of the following activities come under primary sector?

(a) Forestry;

(b) Banking;

(c) Transport;

(d) Tourism. 1

Q.13 Which one of the following is the main aim of Prime Minister Rozgar Yojna
 (PMRY)?
(a) To create self employment opportunities for educated unemployed youth in

rural  areas and small towns;

(b) To provide Govt. jobs to the educated people of towns and cities;

(c) To provide government jobs to the uneducated people of the towns and cities;

(d) None of the above 1

Q.14 In which one of the following states, poverty is still a serious problem?

(a) Tripura;

(b) West Bengal;

(c) Andhra Pradesh;

(d) Punjab. 1
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Q.15 Which of the following practices is  included as land use planning to check
landslides?
(a) Making buildings on elevated areas;

(b) Building on stilts;

(c) Increasing vegetation cover;

(d) Livelihood planning. 1

Q.16 Retaining walls as a mitigation step is associated with which one of the
following disasters? 1
(a) Floods;

(b) Cyclones;
(c) Fires;

(d) Landslides. 1

Q.17 How was the French society organized before the revolution of 1789? State
 the role of the third estate in it. 2+1 = 3

OR

Describe any three events leading to the february revolution of 1917 in Russia
3x1= 3

OR

“The Peace Treaty at Versailles with the Allies was a harsh and humilating
peace.” Explain the statement with any three examples. 3x1= 3

OR

Q.18 Who was Robispierre? Why is his reign referred as the Reign of Terror?
1+2= 3

OR

Describe the role of Lenin in October Revolution of 1917 in three points 3x1= 3

OR

Trace any three main features of the foreign policy of Hitler. 3x1= 3
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Q.19 How do the people of forest areas use forest products in various ways?3x1= 3
OR

Who were the Gujjars? How did they earn their living?
OR

Why were the Indian cultivators unwilling to turn their land over to grow
poppy for making opium? Explain any three reasons 3x1= 3

Q.20 When was the Forest Act passed in India? Why did it cause hardships to
villagers across the country? Explain any two reasons. 2+1 = 3

 OR
Why were the Farmers and Landlords of England greatly alarmed in 1830?

3x1= 3
OR

Explain any three reasons for the increasing demand for the production
of wheat in 19th century U.S.A. 3x1= 1

Q.21 Name the two major groups into which the indian rivers are divided.
Explain any two important features of each river group. 1+2 = 3

No. Questions Marks
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Q.22  Study the table given on page 8 and answer the following
questions:-

(2.1) Explain the meaning of annual range of temperature.

(2.2) Which station has the lowest annual temperature range?

(2.3) Explain the main reason for the lowest temperature range of this station.
3 x 1 = 3

 Q.23 Describe any three measures taken by the government to protect the flora
and fauna of our country. 3 x 1 = 3

 Q.24 Human occupations are classified into three categories. Name each category
with suitable examples of occupations. 3 x 1 = 3

 Q.25 What is meant by sovereign, socialist and secular as the key words of our
constitution? 3 x 1 = 3

 Q.26 Explain any three conditions which make the election process more 3 x 1 = 3
democratic?

 Q.27 Assess the impact of the following two situations on our national interests.
1½+ 1½ =  3

(a) If the freedom of expression is given to those who spread wrong and norrow -
minded ideas.

(b) If the women in India are given 50% reservation in the legislatures.

 Q.28 Explain briefly three causes of poverty in India. 3x1 = 3

 Q.29 Give the meaning of ‘Food Security’ and explain briefly any two dimensions
of food security. 1+2 = 3

 Q.30 Explain the role of cooperatives in food security in India giving three
examples. 3x1 = 3

 Q.31 Name the two countries where earthquake is a regular phonomenon. Write
 the importance of engineered structures in those areas. 1 + 2 =  3
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Q.32 Explain three protective measures from nuclear radiation and attack. 3x1 = 3

Q.33 “If you look at the games equipment, you can see how cricket changed with
the changing time and yet fundamentally remained true to its origin in rural
England.”Justify the statement by tracing the original features and the
changes that have been brought in equipments. 2+2 = 4

OR

In his novel ‘Vanity Fair’, Thaekary described the charm of a woman character
Amelia, in these words:

“I think it was weakness which was her principal charm, a kind of sweet sub-
mission and soft words, which seemed to appeal to each man she met, for
his sympathy and protection”

Read the above passage and answer the following questions:

(a) According to the author what was the principal charm of women?

(b) What typical attitude of men is reflected in these lines? 2 + 2 = 4

Q.34 Which house of the Indian parliament is more powerful and how? Explain
your viewpoint by giving any three points. 1 + 3 = 4

Q.35 Explain the impact of unemployment on the overall growth of economy in
four points. 4 x 1 = 4

Q.36 Four features from (i) to (iv) are shown in the above outline political map of
India. Identify these features with the help of the following information and
write their correct names in your answer book: 4x1 = 4

(i) It is an important river of Tamil Nadu

(ii) National Park

(iii) Weather station (city) in Maharashtra

(iv) A natural habitat of the Indian lion
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OR

Locate and label the following on the given outline political map of India:

(i) The state having the lowest density of population;

(ii) Simlipal National Park;

(iii) Leh

(iv) Kolkata 4 x 1 = 4

Question for the blind students only in lieu of Q. No. 36:

(i) Name the important river of Tamil Nadu;

(ii) Name the Bio - reserve of Uttaranchal;

(iii) A weather station in Maharashtra;

(iv) The state having the lowest density of population in India

4 x 1 = 4
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(ii)

(iv)

(iii)

(i)

No. Questions Marks

Map for Question No. 36

Map for Question No. 36 (OR)


